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2 31 5 6 1
6 3 2 5 1 1
200m 6 5 5 1 4
3 6 5 1 1 2
400m 3 6 5 1 6
6 3 5 2 1 1
800m 9 5 3 4
3 11 2 12 10 1
1500m 3 13 12 11
1 5 3 2 6 1
5000m 1 8 2 6 4
6 5 3 1 2 1
110mH 11 3 1 2 4
12 2 3 1 5 4
400mH 14 4 9
6 3 2 5 1
3000mSC 10 ) 5 4
12 4 1 5 2
5000mW 19 ] 5 )
4%x100m| 3 6 1 2 5 4
4 %X 400m 6 5 1 2 4 3
= 1 6 2 4.5 45 3
EE% 1 6 2 45 1.5
= 1 1 3 5 2 6
EIEB 1 4 3 7 6
— 6 5 2 1 T 3
=Rk 6 8 7
2 1 16 11 31
R 2 4 16 11 4
1 1 6 5 3 2
FIg# 1 4 6 8 2
.o 1 6 5 3 2 1
noe—# 4 14 3
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12 5 2 1 1
400m 20 2 1 4
1 6 5 3 2 1
800m 1 14 2 4
5 3 1 6 2
1500m 5 s .
6 5 T 1 3
3000m 3 5 2
1 5 6 3 2 1
100mH s 5 6 .
6 1 3 2 1 5
400mH 6 1 3 2 4 5
6 1 5
5000mW 10 5
4%x100m 5 1 2 6
4 X 400m 1 6 2 3
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1 6 5 2 3 1
6 2 3 1 5 1
o 1 5 3 16
Nnov—K& 4 8 16
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BaBA 128 2 17 29 68 4 67 91
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